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13-1: Exponential Functions (7/)(
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We have learned that the Ta-k o€ Clhawn (f——

Q@V\QV\&\U\\ pattern is a_(OWWABY GCW ,ora X,—

number that we W\Nujp\ by to get from term to term.
Lirear = add Exp =7 multiply

Does the following table represent exponential behavior? Why or
why not?
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Exponential Function: y= QS( b 5

* biscalledthebaseand b#1 andb>0
[

* xis called the exponent and the exponent will alWay 5 be
a variable

* ais called the y-intercept and a# 0
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Evaluate the following functions

1. y=2(3)® forx=0 and x=2

2. Find {(3) given f(x)=4"

Fe) =4

Remember that domain represents the

-values and range represents

they - values that work for the function.

State the ?,0 ain and range of the following by writing it as an interval
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{(-10,1),(-10,2),(-10,3),(—10,4)}
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Domain:
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The dgmain for a graph is where the X -values g\—ar’\/ to where ghey \)A
Qf\a . L.-Q R -—> + E’]U{\C\U\? o
The range for a graph is where the -values :‘ a'ﬂt;;) Wh\e\)e they( V\d
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State the domain and range of the follow
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State the domain and range of the following
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Graph iygiiy‘ )
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